Exercise:
1. Convert 1001011.0112 to base 10.

2. Convert 32510 to binary.

3. Convert 12.4310 to base 2.

4. Using 8-bit 1’s complement binary addition, calculate 12310-3410.

5. Using 8-bit 1’s complement binary addition, calculate -5610-1210.

6. Using 8-bit 2’s complement binary addition, calculate -11310-5710.

7. Using 8-bit 2’s complement binary addition, calculate 1210-3410.

8. Convert 010111002 to octal.

9. Convert 010111002 to hexadecimal.

10. Convert 45378 to base 16.

11. Convert AB3416 to binary.

12. Convert AB3416 to decimal.

13. Convert 011100011.00101012 to hexadecimal.

14. Convert 34510 to BCD.

15. Convert 3458 to BCD.

